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Important Instructions for the
School Principal

(Not to be printed with the question paper)

This question paper is strictly meant for use in school based SA-II, March-2012
only. This question paper is not to be used for any other purpose except
mentioned above under any circumstances.

The intellectual material contained in the question paper is the exclusive property
of Central Board of Secondary Education and no one including the user school is
allowed to publish, print or convey (by any means) to any person not authorised
by the board in this regard.

The School Principal is responsible for the safe custody of the question paper or
any other material sent by the Central Board of Secondary Education in
connection with school based SA-II, March-2012, in any form including the print-
outs, compact-disc or any other electronic form.

Any violation of the terms and conditions mentioned above may result in the

action criminal or civil under the applicable laws/byelaws against the
offenders/ defaulters.

Note:

Please ensure that these instructions are not printed with the
question paper being administered to the examinees.
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SUMMATIVE ASSESSMENT - 11, 2012 47033
Henfera et - 11, 2012
SCIENCE / fag™
Class - IX /o8&l - IX

Time allowed : 3 hours Maximum Marks : 90

fuifa wu : 3 gue Ifereraw 37k : 90

General Instructions :

(1)

(vii)
(viii)

(ix)

HHT

The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is to be attempted.

All questions of Section-A and all questions of Section-B are to be attempted separately.
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

Question numbers 4 to 7 in Section-A are two marks questions. These are to be answered in
about 30 words each.

Question numbers 8 to 19 in Section-A are three marks questions. These are to be answered
in about 50 words each.

Question numbers 20 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

Question numbers 25 to 42 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

fdor:

T YT U hl @ W, WFT-27 31T WE-a H oie] &0 & | S9! SH1 YW o YA o St fore
g

Tt g rfar €

R U T R HE TG99 U TE S Weg TE-E b F U= w9 § ofqd = e mn #)
T U H 319 hael Tk il =197 i SR fera & fau 501 ghd ¥

3R] WRT-3T 3R WIAT-a & Tl U1 o IR gosh-goreh fora 2|

UT-37 & U H&AT 1 9 3 % % Ueh-TUeh 3{ch & & | 37oh SR Ueh I1eg 74T Ueh AT H G |
WHT-3T & U9 H&AT 4 ¥ 7% T -2 3{ehl & & | Ik SR TTHT 30 9Tl § oA B |

UT-37 3 T3 G&AT 8 ¥ 19 & T¥ - 3kl & § | TToh SR 4T 50 9Teal H o B |
WRT-37 % T GE&AT 20 ¥ 24 T I Ua-U1a ekl & & | T ST T 70 91sat | <A £
WAT-& & U T 25 T 42 F T WA il R G sgfashedt Y91 &1 T g

Teh 3k H1 T | U T =R faeredl # & 9kl hadl Tk Tod S9ga faehed 1 €|
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SECTION-A / WRT-37

State the law of conservation of mass.

T LTl &1 TaH fafau |

Which division among plants has simplest organisms ?

UIeqi o shid 9 ol H Sleran il sk @ e ?

List any two human activities which would lead to an increase in the carbon dioxide 1
content of air.

7= i TRl <1 fafaferl o1 Team o8 arg # weeseAFEe & e s d ¢ |

What is notochord ? Write its functions. 2

TIErenTe 1Bl § 7 3H Ueh S faf@u |

(@) How do children in many parts of India get immune to Hepatitis ‘A" by the
time they are 5 year old ?

(b) Pinky suffered from chickenpox last month. Her grandmother told her that
now she would not suffer from this disease again. What is the reason for such
a saying ? )

(@)  YRA % Afeehie ari § <& g h1 A U 99 B S § T T 98 R YHR
fetersfed ‘A’ & Wi foweft 81 g Bd & 2

(b) free 7R fiw! == 4 Wifeq off | 3Iu=t T 7 TR el o 319 3T T8 I

Foft T2 A" 39 U % S 1 FRO R 2

What is meant by buoyancy ? Why does an iron nail sink when placed over the 2
surface of water ?

ICATRAl § I A0 § 7 Teh @IS i hidd I TH ! Hag W W@ ¥ 98 Fi g9 St
g7

(@) Define one Joule of work. 2
(b) What will be the work done in the following situations ? State whether it will
be positive, negative or zero, giving reason in each case.

F 7 ing] Displacement
L o

o

)
(@) T A & g fafEe |
(b) = (i) 3R (ii) T wgEe <faT iR SRy fohaa e foram 7o 8 2 (i) 79 (i)
¥ feram T T RO §, ST AT YA § 2
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10.

11.

12.

13.

(@) In ammonia, nitrogen and hydrogen are always present in the ratio 14:3 by 3
mass. State the law which explains the above statement.

(b) During the formation of ammonia, what mass of hydrogen gas would be
required to react completely with 42 g of nitrogen gas ?
() Define atomicity. What is the atomicity of a molecule of nitrogen ?

(@) ST (NH,) # TIEISH TS SRS S M| o STIHR ¥ad 14 : 3 & Iq9@ H
foemm wa €1 =9 frem =it fafen s swisa e soe o @1 2|

(b)  SFEITT o o % foTw 42 g LIS 9§ qof gfshan 3 & fore erger T4 %
foha™ S ot sTavasRal BRft ?

()  TRTLRdl S GRS fAferg | RS o 3T9] i THTIEHT 1 & 2

What are isotopes ? Write 3 isotopes of hydrogen. Why do isotopes show similar 3
chemical properties ?

TEENH FM1 2 €2 SRS & i gueenfie fafaw) aueenfis qum vam@fe o
ERICH I

(@) Explain Bohr and Bury rules for distribution of electrons into different shells. 3
(b) Draw the electronic structure of element X with atomic number 17 and
element Y with atomic number 16 ?

(@)  fafas el ¥ goiee s e & faauon & faw SR qen s fmi S smen
HIFST |

(b) T X fSraeht TN €@ 17 § 991 9 Y SEeh WA €@ 16 ©, % W
G & e foe sTfEa sifs |

Write four characteristics of Monerans. Blue green algae have been included under 3
the kingdom monera not under plantae. Why ?

ARG ot & Sfal & =9R 1firerr fafae ) Fia-sfa e =1 s @i ° 9 W@ S
A o = T TR ?

You are given Leech, Neries, Prawn and Scorpion; and all have segmented body 3
organizations. Give the important characters based on which you will separate
these organisms into different groups.

3MIH] T o WS AT a1t siidl Siies, 309, g, qen fosg faw md) 3 smavas
safietaror fafey fSeh TR o 3119 378 STev-37erT &l | W ?

A man is suffering from AIDS. 3
(a) He is not able to fight off even minor infections. Why ?
(b) Write any two ways in which he could have got this disease ?
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14.

15.

16.

17.

18.

() Wil the treatment by antibiotics help him in AIDS ? Justify your answer.
T A Tew 9 difed €

() I Al Yfafe eF aTel SIE Wkl o1 HohTaeTl el L Tehdl & | 1 ?
(b) =i < fafy fafae f5me grn o= A 39 =afe o TaiaRa gst g |
() I8 W UamIfesh GRI Stk 2 Wehdl © 7 <A ek aIfer |

(@) State Archimedes’ Principle. 3
(b) Find out the density of aluminium if its relative density is 2.7, and the density
of water is 1000 kgm °.

(a)  AfehHISTS o1 fagid =aea wIfST |
(b) Afc TEfHFEm @1 AfeE BN 2.7 € q€1 @ & B 1000 kgm ° ® @
U= 1 o9 91d i |

State the law of conservation of energy.

(@)
(b) A torch cell converts one form of energy to another. Identify them. 3
(c) When is the work done by an object negative ?
(@) o G @ e fafaw
(b) T 21 ST Th YRR i ol Sl S ThR i ol § SUART BT & | Holsd o
A &FdiRU |
(c) foret ag g1 fomam e el FoTicHeh SRt BT © 2
Two boys, A and B each of weight 600N climb up a rope through a height of 10 m. 3
Boy A takes 10s while boy B takes 40s. What is the power expended by each boy ?
3 AEH A 3R B 70 & Y T YR 600N &, Th TH W 10 m & 6 q =ed & | 39
T ] G H H TSHT A, 10s Tl § STk TSHI B, 40s Hl THI Tl &1 Yo ASh
SRI S49 i T Viek <l TReher shiTsTg |
What does SONAR stands for ? Name its two main parts. List two uses of SONAR 3
technique.
AR &1 qU M fafae | gae < 9q@ wril & 99 fafee | 9RR dekten < <1 SwErn it
=i IR
State reason for the following statements :- 3

(@) Fertile soil has lot of humus.
(b) Dustis a pollutant.
(c) People love to fly kites near the sea shore.

Tr= fou T oAl & faw HRo e hif
(a) U gl # aga sifere gy Bar |
(b) Y % HU YgHd HH a1 B T |

() TN THg-T< & e Td7 IS 78g &Yd & |
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20.

21.

—~

—~
Sa

—~
@)
~

/0\/\/\
SRR

Though large oceans surround the land masses, the water needs to be
conserved.” Explain.

How is the life of organisms living in water affected when water gets
polluted ?

" afa gedt IR IR ¥ HEMTRIE wia ¥ ol g2 ©, eI STor b1 TfE e
sTeavashd ¥ 1 fad=mn sifse |
ST o YGod B 9, ST § T8 dTel Sl o Siad O 1 Y9TE qe 2

Calculate the mass of -
(i) 1 mole of nitrogen atoms (At. Mass of Nitrogen =14 u)

(if) 2 moles of aluminium atoms (At mass of Al =27 u)
Define the following terms -

(i) One mole

(if) Avogadro constant

(iii)  Polyatomic ions

=1 o1 geomT ufenfera shifse -

() 19 AL qEETY] (N 1 YA S99 = 14 u)

(i) 2 ¥ TIHAMEH ] (Al - S IRHTY] SFHE =27 u)
fr=fataa s aRwfi it -

@) T

(i)  STEmTET feris

(iil) SIS AT

OR/37era
List the postulates of Dalton’s atomic theory. (any three)
Write one difference between molecules of elements and compounds.
Write the valency of
(1) Ammonium ion
(if) Sulphide ion
Sieed & WA fagia & fwEia fafaw| (+iE )
Aifiter 3R T o =70psti # w sim fafaw)
=1 =l HrsTeRan fetfiarg -
() A S
(i) ~ HTHES

Identify the organism. given in the figure. Name the Phylum to which this
organism belongs. Write any two characteristic features of the phylum.

=
b ' !

|
o

N

fg]

X

)

e
x

N
A

)
t\

s/
2

N

Pick up the odd one out and justify your choice by giving reasons.
Crocodile, salamander, sparrow, bat
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Write the common name for Ascaris, Wuchereria

ANFEd e sl Tg=HT | 39 wiEe™ i 9M fafge 598 a8 Sia defia 21 39
ot & S <1 srfyeretor fafaw

oo aht T qem wRoT fer@d 3T 379 IW i Jfe hiT |
TS, Semier, fafea, wmmes|
TEhE a1 FeRan < foe smm= 9m fafaw

OR/37era
Explain the three basic features for grouping all organisms into five major

kingdom:s.
Euglena is a dual organism. Why ?

S 9 ol TAeTul it e Hifery, S ShRor Sid o1 e ST H aiieRRor fohar
TR

Frei T 1 i (dual) Sfta a1 SIT1 g1 R fArey |

Name the commercial unit of electrical energy. 5
Establish the relationship between the SI unit and the commercial unit of

electric energy.

Calculate the electricity bill amount for a month of 30 days, if 4 bulbs of 50W

for 6 hours, 3 tube lights of 40 W for 8 hours, a T.V. of 100W for 6 hours, a
refrigerator of 300 W for 24 hours are used. The cost per unit is Rs. 2.50.

fara ot 1 SaEae A = T ?

forgga =11 o SI TR Q1 SATHIRIE Ak | oY Tud hifay |

Ffs gfafed 50 W o 9IR &edl 6 S T, 40 W i 3 TJF T18e 8 He ah, 100 W I
.41, 6 5 T TAT 300 W T THISE 24 5 q% SUANT T S § o Tk WelA
(30 T ) forga forat foRa MM ? T Ife W @H 250 %. B

OR/37era
Define the term Kinetic Energy of a body.
Derive the expression for the Kinetic Energy.

A body of mass 5 kg, initially at rest, undergoes an acceleration of 4m/s”
when subjected to a certain force. What is the kinetic energy acquired by the
body at theend of 10 s ?

ferdll T w1 it Sttt aRwn ferfe |

TSt st o Tl SSeh Sgcael Shifid |

T e &1 TomM 5 kg ¥ 19 3HE W I TN ST & 1 98 S0 form
31T ¥ 4 m /2 1 & YH I ©1 10 s o 912 a8 T fhat Tifast st e
Y M ?
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23.

24.

25.

(@) Describe an activity to show that sound is a mechanical wave and needs a
material medium for its propagation.

(b) Explain which wave property determines pitch. How is a tune different from
anote ?

(@) 9% T % fau fordt forarhata o1 ovie wifaft & safa =ifer ot § aon e
TR % AU =ik w1em i STavashdl Bt ¥

(b) AR Wl FEIRA T T T U1 T SARAT HITC | h1g 2 Fhell W1 9 ford TR
faat Bt § 2

OR/37era
(@) Define the following characteristics of sound :
(i) Pitch (if) Loudness (iii)  Quality
(b) A boy receives his echo 3s later. Find the distance of the reflecting surface

from the boy. Speed of sound in air is 342 m/s.

(@) = o fefafigd styersmn st gty fafe
i) AR (i) o (iii)  Tomn

(b) I AT 3s H TLA AT Hfaeaf a1 &1 Tedsh g3 ¥ 39 =4 i g 90
Fifere | o1 § eafT Fl I 342 m/s T

How is soil formed ? Explain all the factors which help in formation of soil.

a1 1 Fmfor fFT R S 87 39 99 SRkl ol SATEAT hifSIT &I gaT & oo § weres
gl

OR/31¥aT
(@) Draw schematic diagram of Nitrogen cycle in nature.
(b) Explain all the chemical processes involved in it .
(@) U H RIS =k skl ARG e Fwifse
(b)  TEH TN Al weft THEtTeR wfkerst s e wmifs |

SECTION - B / 4M-&

In an experiment to verify the law of conservation of mass lead nitrate solution is
taken in an ignition tube hanged in the conical flask and sodium chloride solution is
taken in the conical flask. A cork is put on the flask. When the flask is fitted and
swirled. It is observed that :-

(@) mass of Pb (NO3)2 + 2NaCl > mass of PbCl> + 2NaNOs3
(b) mass of Pb (NO3)2 + 2NaCl < mass of PbCl> + 2NaNOs3
(c) mass of Pb (NO3)2 + 2NaCl = mass of PbCl> + 2NaNOs3
(d) mass of Pb (NO3)2 + 2NaCl can be more or less than mass of PbCl> + 2NaNO3
AU G&T0T & | &1 JHIio i o Tl Ueh soer Aell # o Agee famem feran o
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26.

27.

28.

qAT T T VaThR Tk e Sifeam acinmge faeam € # 39 YR aesrn 71 foh el
foeram weR hfya 7 81, e o @ W T Hleh -l 1| 519 FAh ohl SHET 141
de g Yferd foam e fom

(@ Pb )

(b) Pb (NOs)2 + 2NaCl %1 91 < PbCla + 2NaNOs % S8HH 9

(© Pb )

(d) Pb (NO3)2 + 2NaCl 1 G0 3iferek 3190a & & Fhdl © PbClr + 2NaNOz &

(NOs)2 + 2NaCl &1 §&HM > PbCl, + 2NaNOs3 % ZIHH |
(NOs3)2 + 2NaCl 1 GFHH = PbCl2 + 2NaNO3 &l SedHH

FIHE 9

For the verification of the law of conservation of mass in a chemical reaction four
students A, B, C and D performed the following reactions :-

(A) Dipped magnesium ribbon in copper sulphate solution.

(B) Heated lead nitrate(s) in a hard glass test tube.

(C©) Added barium chloride (aq) to sodium sulphate (aq.)

(D) Added calcium oxide to water.

The student who is likely to get the best result is :-

@ (A) (b) (B) © (© @ O

Toh TR SAfafshan H S et o a0 o1 Tedfua i o forg =R faanfef= A, B,
C qe1 D A f=ferfed sifufshamd =t :-

(A) TR fom # wR gethe foeam o gamn|
(B)  <IE TELE (s) Tl W@l § TH fohan |
(
(

Q) R FnmEe faaad &l Aifean aothe foee | S|

D) Hfcxem AfeEEe &1 5 § S|

5 faeneff foren Tatad aiom o o H9e T 8 98 1 :-

@ (A (b) (B) © (© (d (D)

A sample of a member of group Aves was given to a student to identify the external
features. The feature, the student would observe is :-

(@) Vertebral coloumn (b) Four chambered heart

() Body covered with feathers (d) Dorsal tubular nerve chord

e foenefl 1 qaft ol 1 Tk A 39 faeme a dev ggery o fa fom i 9%
feremeff <t @eror Yfara AT AB R -

(a) HERS (b) =R FRaT A

(c) IR 9@ 9 ge1 gall (d) TS T FUEF S Td HELS]

Chloroplast of spirogyra is :
(@)  Spirally arranged and ribbon shaped without pyrenoids
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29.

30.

(b)  Circular
(c)  Cup shaped
(d)  Spirally arranged and ribbon shaped with many pyrenoids

TIEUTRI I FARTAE BT &
(a) Wfuel Safeerd e o SRR 1 fo1 gRRiAEE &
(b)  FATHR

(c) %Y % AR T
(d) gfe =aféed, Ra & AR 1 9gd | IR 19 o |

While observing a specimen of cockroach the external features a student would 1
observe
are :-
(i) Post anal tail (it Jointed legs
(iii)  a pair of antennae (iv)  body covered with feathers
(@) (i) only (b) (ii) only
() both (ii) and (iii) (d) both (ii) and (iv)
TR o Tk T T HeTol Shid o Ueh foremelt S sy @reqor Uferd shom o € -
() e S (i)  dfde
(i) T S U (iv) ¥RR 9Gl | T gl
(@ e (i) (b) e (i)
(€) (i) T (iii) S (d) (i) T (iv) QI
Identify the division to which the following plant belongs :- 1
ool
Fiower buds \
‘Ck’kﬂ} '|:'
Axillary branch \i I
T, i|| X
T
(@) Bryophyta (b) Pteridophyta
() Angiospermae (d) Gymnospermae

= feam man dien f59 =i 9 gefug @ 9 vg=nfau .-
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31.

32.

33.

(b)  REwEa
d) e

A student observed a monocot plant and noted the following observation. The
observation which is incorrect is

(@) leaves have reticulate venation

(b) three petals are seen in the flower.
() stem is hollow

(d) adventitious roots

e foanefi 3 e oot 9 w1 Yeror feran gen frefafaa Seror Ak foen) o e R
(@)  ufEl § snfersse R famam (b) g H 7 dgfear et w2
() N ErEe gl d) WERSEI

The disease which is not transmitted by mosquitoes is :-

(@) Dengue (b) Malaria

() Brain fever  (d) Pneumonia

8 I S ol BN TN 78 el ¢ 98 © -
(@ =1 (b) I

() feumit @R d) it

While determining the density of the metallic sphere using a spring balance and
measuring cylinder a student noted the following readings :
(A)  mass of the sphere = 30 gm
(B) (i) reading of water level in the cylinder without sphere = 40 m/
(ii) reading of water level in the cylinder with sphere = 48 ml
On the basis of these observations the density of the material of the sphere is :

(@) 3750 kg/m’ (b) 3000 kg/m’

(c)  37.50kg/m’ (d) 1500 kg/m’

Teh HAMIGR ol a1 " fafdel g1 T s el 1 o9 91d & o g Th
faenefl = frafafaa e foag
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34.

35.

(A) T I ZFHM 30 gm
(B) (i) WUk faferel § o Mt % ST 1 W = 40 ml
(i) W9 Fafde H§ el Sed % 9RE S 'R = 48 ml

T Y&IUl & SATER W el o veted o1 e © o
(@) 3750 kg/m’ (b) 3000 kg/m’
(c) 37.50kg/m’ (d) 1500 kg/m’

The density of an object of mass 0.01 kg and volume 4 cc is :

(@) 25g/cc (b) 25¢g/cc
() 0.25g/cc (d) 0.02 g/cc
TR 0.01 kg TS T 4 cc ST i %] T = BT 2

(@) 25g/cc (b) 25g/cc
() 025g/cc (d) 0.02¢g/cc

A metallic solid of mass 176 g was immersed in a graduated cylinder containing
water. The initial and final readings of the water level, are as shown in the diagram.

The density of the solid in g / cm” is :

A a

@ 176 b) 88 © 80 d 78
STl 9 9 Tk 3ASMiTohd THETUE § 176 g SAM <l <h1g ellfcoleh S19 galal 711 3{eTifehd

fafeuet # Sat o yrfrusw qon sifon @R o  gufe saR 1 S Fg/om’ o9 7
3\ r

mL

@ 176 (b) 88 € 80 d) 7.8
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36. A student measures weight of an iron cylinder first in air, then in a graduated
cylinder filled with water and finally in an overflowing can filled with water upto its
spout. If the weights of the iron cylinder in three cases are Wi, W2 and W;
respectively he must observe that
(@) Wiz Waz W; (b) W1>Wo=W;

(C) Wi=Wr=W; (d) Wi<W,=W;

*TE B fhE AR & fafervet Fl veat arg o ATl 813U 9T 98 39 iRt § R S
H oY AIeTdl € A1 AT § 9% 39 Ueh UH AT oA | galeht drerdl © fored 2idt aeh
ST W0 B 1 Al T A Tl | e ok et R HmHR: Wi, W 3 W5 § a1 Saor
W I I UM e foh

(a) Wiz Wo# Ws; (b) Wi>W,o,=W;

(0 Wi=W2=W; (d)  Wi<W,=W;

37. Ritu took a cuboid of weight 20 N and of face area of respective faces f1, f2 and f3 as

1x10 2 sqm, 0.64x10 * sqm and 0.16x10 2 sqm. She observed the depression
produced on sand by placing it on different faces successively on sand. She would
observe that the pressure exerted on sand is :

(@) maximum when placed on face f1
(b) maximum when placed on face f»
() maximum when placed on face f3
(d) same in each case

fig ¥ 20 N 9R 1 U 51 foqan fo7@eh weteh £1, £2, £3 1 ShASn: &%t 1x 10 2 afHT,,

0.64x10 > fHY. 3R 0.16x 10 > SIHY. &11 THA T T Teh STCT-3TeRT Hheldh W Xd &
TR TG H Y01 foRar | sa e o X W 9 aren 9

(@) £ eH T @ R Afushad B 7

(b) eI W T W Afehad B 7|

(© el T W@ R Afeshad g 7
(

d) & 3T H U 99H e ¥

38. To measure pressure exerted on sand, Vibha placed on sand a block of weight 50 N 1
on a face of area 10 ° sqm. The correct pressure measured would be :
@  5x10 *Nm? (b)  5x10°Nm 2
€ 5x10*Nm’ (d 5x10 *Nm >
W@ R T2 T hl O oS faH 9 Th 50 N HR & slieh bl 10 ° aiidl. &ehe arl
TeTsh X W @ | Sk GRI HI A1 e < e

@  5x10 *Nm’ (b)  5x10*Nm >
(©) 5x10*Nm’ (d) 5x10 *Nm 2
39. To verify the laws of reflection of sound the best set up of apparatus is :- 1
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o

t “Cotton sheet l

' p > IA:: -
71N\
1 \
A
Thermocole ]
s
S c )
() (b) B (© d D
W%W%ﬁaﬁraﬁwﬁaaﬂﬁ%mﬁwﬁnmﬁmw%aﬁ% -
j Q_T;T-Iqm_‘q‘"" . ..___________.
7N % /\ﬁ
A B
o ; . o AR | = I:
C D
@ A (b) B © C d D

40. Angle of incidence of a clock sound is 45°. The angle at which the ear should be

placed to hear the clock sound clearly is :-
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@  90° (b)  135° (©)

60°

T fou U s H Sl 1 eaf 1 A IV 45° § 1 FE Wt A bl T g Ay

59 0 W FH WA AR IR § -

(d)

45°
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41. Which type of pulse is generated on the slinky in the experiment while determining
the velocity of propagation of a pulse ?

(@) Longitudinal wave (b) Transverse wave

() Both of these (d) None of these

forelt Tog o RO 1 O A H A, fh S et Wi H, el § g gehr w6
T I B ¢

() A T (b) STURY T () ST aH (d)  hIe off T&l

42. The distance between initial and final positions of the pulse generated in a slinky is
3m and the velocity is 3.6 m/s. Find the time taken.
(@) 1.20s (b) 0.83 s () 10.8 s (d) 1.60 s
foreht ficiert H 3o T ot URfreh wd ifom feafadi < = o6t g8 3 m ® aen 39ert am

3.6 m/s T T gRI fera o 94 ghm
(@ 1.20s (b) 0.83s (c) 10.8s (d) 1.60s
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